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= arctansint + ¢ = arctan ———— + C.
J1+22
(4)IM]) %4 = = asint,dx = acostdt, v/a* — x> = acost.
J' ’dr  _ Jazsinzt » acostdt _ a,J' 1— costh‘ L ia’t A la’sinZt-}-c
m P acost 2 2 4

2
= %—(arcs;inai“-aiz a— )—l—C.
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GHIRY A = = sinz,

- - 1+cos2t 1 + 2cos2t + cos’ 2t
IV(]—:’)’d.r—Jcos‘tdt—J( 3 F de
=L+ Lainze+ —I—J(I +cosdndds = S ¢4 Lsinze+ L sinde+C
A 8 g’ T 37

= %arcsin.t-l- %—sinZt(l #= %cosZt) +C

3 : s 1 sin’t
Karcsma:-i-?mntcosz(l-k rE— )+C

= %arcsin.t-}-%z J1I—2Z (5 —224) +C.

(OIS = = %.mn de =— tlzdt.

}'mdx j‘ —i dt——J Ve T AL

1 2 Jsinucoszudu
’T
Jr 7 133
Icos udcosu = %cos‘. utc= %—}-C
1 __dt
(7)[*’@‘1——{- | dx z=="7
L
z+1 t 1 t41
——dx=I— = dt=—J. dt
J:rz«/.r’—l 1 1_1( 12) 1—1¢

NP

. = —1 T |
J(smu+ 1)du = cosu—u—+c = S -—arcsm;-i—C.

4t = sinu

LRFHARERS:

- e +e* _ d(e —e™*) _ i =
(l)lﬂlj '—‘—‘—"—'—"z’+ld1' J.e_——z‘—l-}-e‘z’dz o -+l = arctan(e’ — e ) + C.
(M4 1 = 27 dz = 3L,
tin2
I I J 1- dz R ( 1 +arctam)+C
2‘(1+4 ) E (l+t’)ln2 t* n2
=— lr112( + arctan2” )
4. *Ti’]*ﬁﬁﬁ}:
- .lj Sdlp—2)® —— T i‘[ (o — 2)
(l)lﬂ’j( ),de 59 )% d(z—2) 3902 — )" +35) (z—2)%dzx
_ z - 5x' L0 [ 50 on-si
99(zx —2)" 9702(x—2)’°+4851II =2l
- z o 5z - 10z° - 5t
99(x —2)" 9702(x—2)%® 470547(x—2)% 7528752(x— 2)*°
X 1

T 71523144(z— 2 )“_ 7523144z — " T ©

(OIW1 % = 1/t,

IJH—I I \/:T J tdt‘=_%J‘ﬁ

4 = wanu I sec? u
2 J secu

=— -E'ln | tanu + secu |+ C
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5. R FAIAEHS:
(l)lﬂ)J‘Jcosz ol =2 J ) el = %IZ + % szsinz.z

1

1
2
1
4 g

2y 1 _LJ‘ =
T 3 xsin2x n sin2zxdx 3

(Z)Kﬂ]J‘sec3 zdx = J. - ssz —J-seca:tan’zd.r
cosz s’z

co

r+ -i—xsinZz + —l—cosz:c +C.

= secrtanz — J’(seczr—— 1)seczdz = secxtanz + In | secx + tanx |— Jsec’zdx.

J-sec2 rdr = isecxtan.t - Lln | secx 4 tanx |+ C.

(3)(&1{

2 2
: 2
(ln:zz:) dx =—I(]m)3d 1 _ l‘(ln.z'):’ +I 3(|n;1:) dx
2 p I .

__ Unx)®  3(nz)?
z z

~— L [(n2)* +30In2)* + 6lnz + 61+ C.

(4)[ﬂ]Jcos(ln.r)dx = zcos(lnz) — J..zdcos(ln:r) = z cos(lnz) —J’sin(lnr)d.r

= z[cos(Inz) + sin(lnz) ] — J.cos(ln:c)dx,

Jafujcos(lnz)dz = £ [cos(Ino) + sinClnr)] +C.

(5)(!!][

zcos' =
2

sin’

zcost = cos =
d.z:=J—2 d.t:—l—J- L s 2di
8sin® X cos® = 4 sin = sin? = 2
2 2 2 2
—— z__ 1 J ez 1
=3 Ircsc 2 desc 2 8 xdesc 3 3
= 'LICSCZ TR —1—cot LaiC
8 2 4 2

6. RTFHARZERL:

<1>nnj'

4 z = tant, ] dx =

zln(x +

-zt

vitz), _ %jln(z-&- JTF2)d 1

1—2°
1 AT 1 _i.[ L . 1
2ln(.lr-i‘- 1+I)1-—zz 7)== T
dt
cos’t

1

1 1 =J';.
Jl—z’ mdx 1—tan’t cost

cost .. _ _I_J' d+/2 sint
1— 2sin’t

izt 7
_ 1 1VEsine 1 V142 V22

n (4
V2 1—Zsint V2 N+ -2z

Fﬁuj’xln(z-}-«/l-i-xz)drzln(.1'+ Vita) 1, 1+ +J§x+c
(1=2) 2C1 = 2*) W2 NFZ -2z

@1

rarctanr

V1+ 2

1
dzr = Iarctan.rd JI+ 22 = 1+ 2 arctanz _J' dr
1+

3
+Is::xd1 __ (Unz)* _ 3(nz) _61n.z+J'
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= J/1+ L arctanz— In(z+ V1+ 2 ) +C.

(3)[ﬂlj arctane ——dr =— %jarctane de %

1 =z

1 €
e “arctane” + 2I1+ez‘d1

e 1 1
* arctane” + 2 .[e’—(i+—e“)d1

Il

CREE N P W
arctane” + 2.[( pe 1_{'_eh)d:z:

2
1 -
2
i —~2x
2
%( *arctane® + e * + arctane™) + C.

J(zln(l +z*) —3)dz,z =0
7.1 fa)dz =
J(Iz +2x—3e*dz,z <0

2

{izﬂn(l +2) - 22—l +2)]—32+C, 230
— (2 +4z+ e 4G, r<0

mﬂﬂz)dzﬁﬁ,ﬁfu C == 145} = 14+C.

_1_ 2 2 _L E. 2 .
EpJ‘f(I)dI={2xln(l+x) 5[z —In(1 +2)] 3z +C, z=0

— (P +4zx+1DDe*+14+C, <0
8.[MY % t=¢,z=Int,f (&) = asinnt) + bcos(Inz),
flx) = I[asin(ln.z) ~+ bcos(Inz) Jdx = %[(a + 6)sin(Inx) + (b— a)cos(Inz) ] + .

9. R FIARERSL:

xz +3r

In3

(1)(;){3*2*31(214— iy = Is*’“fdw i) = T e,
_ <2)nujcsz2 —224+5)7 3z — Ddz = %J(sﬁ —2z+5)7d(32* —22+5)
= %(312 —2z+5)% +C.
4 1+JT_T
(DI ER dinz+ VIT ) = Itz . _ 1 . mu
z+ 1+ 2 V1+ 2

In(x+ v1ta) Jln(1+ SIFH)din(z+ JIF ) = —[ln(.t-+- JAFOP +e

V1+ 22
142 x
(ORI E Y din(1 + JITF) = L1+ ’
1+ V/1+27 1424+ /1427

ﬂfuj zdx _ J din(1+ vTF )
A4z + T+ DO+ VI+) J A+ /T+2)

=In|InQQ+ /1+2) |+C.
€ z xe*

_l_x_f(z)_*_ f(z)dx__Jf(J;)dx= f(f)+c~
e =z - ze xe

xe*

11.[#8) 4 ¢t = cosxz+ 2,0} coszr = t— 2, AT

I12
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Fa)=1 cos’z + ———1 (¢ 2)+(t_2),.

Eflfl f(l') =‘—J-[(1'“2)z _E;——lﬁ}dl =— %(1_2)3 _Iiz_’_c.

12. R FHRAEER 4.
arctanr 1 1
(1)(ﬁ]j Z{l—;—ci—z—)—zdz =— TIarctanJ:d i+
__ _arctanr 1 dz
2(1+2 2] (1+2)?
4z = tan arctanx LJ sec’t
2(1+ %) 2} sec't
____arctanx _l_I 2
= _2(l+12)+ 5 | cos tdt
____arctanx _l_j
2(1+.z~z)+ n cos(2t+ 1)de
_____arctanr
= 2—(1+x’)+ 4t+ sm2£+C
_____arctanx 1 x
= 2————(1+12)+ 4arctan:l:‘i-4(1*_12)-i-C
_ z _ —__2u
(DIMY 2 u= 1+I'1_1uu2,d:—(1_u2)zd"

arcsm A / d.z- Iarcsmu ————ydu
—u®)

% u = sint s si
Jz Z“?Icostdt = ij —"—‘:—dt = J:dtan’t
os't cos’t

= ttan’t — Itanz tdz

1
2, =
ST I(coszt l)dt
rtan’t — tanz +t + C

xarcsin —I— —JT+ arcsin 5 /L +C.

I

Il

i 14+ 22 __arcsinz arcsinz
(3)ln]J. arcsinr | +J
= l—.r s/l—z! s/l—zi
4 = sint

J 3 E—consile+ - Caresing)?
sin‘ zcost 2
=— J-tdcott + % (arcsinr)?

=— tcott + Jcottdl + —é—(arcsin.z)z

=— teott + In | sint |+ i(arcsin.z:)2 +C

2
=— _"l;'rarcsin.z-f- In| x|+ %(arcsim:)2 +C.
(OIM]) 5 t = arctanz .,z = tant.dr = sec’rdt,
J arctanz _J' tsec’t J‘zcos’tdt _ J' t(l—sinzt)dt
22 (1+2%) ) tan’ tsec’ t sin®t sin®t

=— Jtdcott ——Jtdz =— tcott-f—Jcottdt— —;_—z’ =—tcotz + In | sint |— —;—tl +C

— arctanx + _l_ln z — L(&rctam)z '+‘ C.
z 2 5
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(IR 4 = = 2sint.dx = 2costdt.

Jz’ Vi—xtdz = 32J’sin3 teos’tde =— SZI(I — cos?t) cos® tdcost

—%cos t+—cos t+c= l(4—1 )“ ——(4—.2: )z +-C
(2)[#8) 4 = = asect,dx = asecttanzd:.
Y e —
J L 2 4z = Ialamusecttam:dt = ajtanztdt
x asect
. 2
=aJ’1;?5tdt= dtz —a = atant —at +C
cos’t cos’t

a
= y/x* —a® — aarccos — + C.
x

(3>(ﬁljejf__”¥Jd =jﬁi_d:+fm

_ I de __J d(1 —e*) ) 4z
T 2) ST
= arcsine® — 4/1 — €= +C.
Su=/z ut 4 u= J2asin .
(DOIR] JI Al 2 iy ZJ‘ du - 8azjsm‘tdt
2a—=zx /72 — &

o 2
= 8a2'[(l——;-95—2[) de = 2aZI(1 — 2cos2t + cos?2¢) de

— 24?1 — 2a% sint + zaZf %dz

2
= 3a?t — 2a*sin2t + %sint&t +C

= 34t — 4a’sintcost + o’ sintcost(1 — 2sin’s) 4+ C

= 3a%t — 3a*sintcost — 2a*sin’tcost + C

=3a2arcsinali—3az‘/i,/z_‘.’$ 22-15 / /2a—_z-

= 3a‘arcsin i S §%{ Vx(2a—z) + C.
14. R FIIARERS
(l)lﬂ]¢m= u._(.i_{_ _ Zudu = Zudu — 2udu

sintx  —sinz  cosz—1 wi(u? —2)

J dr _ J' 2u dag == ZJ' du
sinz 4/1+ cosx Wt —2)u wt(ut —2)

1 1
:_J _Z_uz_z)du
- ~/_+u

zJ‘ VZ —u
_ 1 e ~/—+\/1+cosx
V14 cosx 2«/_ N v/ 1+ cosz

= sin,r J d(2 4 cosx)
(Z)K“IJ 2 +cosx - 2J 2+ cnsxd wesF 2+ cosx

2de
2-[ lTizz +In | 2+ cosx |

+C

1
u

4 tan-g— =

I14



